INITFILE= ESO012-010_bd.outgal FITSECT ="[539: 981 73: 515]

DATAIN = ESO012-010.phot.1_nonan.fits CONVBOX = '50, 5 COMP_1 = sersic
SIGMA = ES0012-010 S|(T;ma2012 fits_ns MAGZPT = 21 097 1_XC =[760.6770]
PSF = PSF-1.composite.fits INFILE: 2012-Oct- 9 1 YC =[294.9520]
CONSTRNT= none PLOT: 9-Oct-2012 17:45:56.00 — - ’
MASK = ES0012-010.1.finmask_nonan.fitss4g@hiisi.oulu.fi 1 MAG =15.9841
ES0012-010_bd.outgal 1 RE =21.73%
1N =1.2390
16 OBS ______ BULGE 0.100 1_AR =0.3069
18 COMP_2 = expdisk

2 MAG =13.5910
2 RS =43.6054

& 20 2 AR =[0.4580]
3 2 PA =[-33.7950]
$ Chi2/nu=  9.78076
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